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1. The degree of polynomial(—6uv—9u+2v—-7)is

(i) 3 (i) 4 (i) 0 (iv) 1 (v) 2

2. The degree of polynomial(8[‘2u+9t2 +2u? +8u)is

(i) 2 (ii) 3 (iii) 4 (iv) 6 (v) 1

3. The degree of ponnomiaI(3b2 2d?+2b2d?-9c2d-c? —84d)is

(i) 5 (ii) 7 (iii) 3 (iv) 8 (v) 6

4. The degree of polynomial( Pmn?+8m%=32mn3+2”2+5Im?n?+m?n? +7mn)is

(iy 7 (ii) 3 (iii)) 9 (iv) 6 (v) 5

5. The coefficient of term yin polynomial(2xy—3x+3y+8)is
(i) 4 (i) O (iii)) 2 (iv) 6 (v) 3

6. The coefficient of term op2 in polynomial (2 02p2 +702p—2 op2 +7p)is

(i) -1 (i) -5 (iii) -3 (iv) -2 (v) O

7. The coefficient of term p2/2 in polynomial(—7,02/2 —5pr+5p+8r+8)is

(i) -7 (i) -4 (i) -6 (iv) -8 (v) -9
8. The coefficient of term 2 k/3 in polynomial (7/3 k2 =32 kPP +32kI? +4/2 2 +5jkIP +8k3 [+41) is
(i) -5 (i) 0 (iii) -4 (iv) -3 (v) -2

9. Which of the following algebraic expressions is a monomial?

(i) (s2t=2sBu+3st—=203) (i) (653tuP—6522u2—65+683) (i) (—sPu—8s2u2—483u?)
(iv) (—=s22u%+5t203) (v) (—4s243)

10. Which of the following algebraic expressions is a binomial?
() (5t V2—atu?—263+9u) (i) 2BUAV =223 +32uv?-343Vv) (i) (=9£2uv)
(iv) (8833 -38u3+u3v2%) (v) (7183 v—6ur?)

11. Which of the following algebraic expressions is a trinomial?
(i) (—8s53tu+8s3u—stu+3tu) (i) (—4s38u+as32+4s2tu3+0u3) (i) (=3s3tu?)

(iv) (—4s38303-4s3tu—-5s203) (v) (—s3—6£2)
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Which of the following algebraic expressions is a constant polynomial?

() (2p3g2P =2p3¢%=3pg%+9pqr) (i) 7 (i) (602 +7pg?r (iv) Tpg?r

(v) (-8p3q?rP+2p3q+5p%q° 1)

Which of the following algebraic expressions is a zero polynomial?

() (=422 —=8jkI-2k) (i) 82K3P3 (i) 0 (iv) (7 Pk=5/2k3) (v) (5P k2P +7/2K212=3jKk2P -5

The degree of polynomial(6gh—g+6h—5)is
(i) 2 (ii) 5 (iii) 0 (iv) 3 (v) 1

The degree of ponnomiaI(—9/2m—7/m+3m—1) is

(i) 6 (ii) 3 (iii) 4 (iv) 0 (v) 2

The degree of ponnomiaI(—a2b—3ab2 c2 —9abc+6a+1)is

(i) 2 (i) 4 (i) 8 (iv) 5 (v) 6
The degree of polynomial (83 k/—8/3 2 —6,3 + 2 k212 — 2 ki> +42/+9K3) is
(i) 6 (i) 5 (i) 4 (iv) 7 (v) 8

The coefficient of term wxin polynomial (4 wx—5w—-3x—-9)is

(i) 3 (ii) 5 (iii) 4 (iv) 6 (v) 2

The coefficient of term A2 in polynomial ( 5h2i2 —Th% +9h/2 +i2) is

(i) -6 (i) -7 (iii) -5 (iv) -8 (v) -10

The coefficient of term /2 in polynomial (—5/2j2 +9/2k%-8/2 —4/'/'2/(2 +9k)is

(i) -6 (i) -8 (i) -9 (iv) -11 (v) -7
The coefficient of term jk3 in polynomial (332 k2 =722 k3 =522 k2 +4jjk3 —=3ij—-8P k2 +7jKk3) is
(i) 6 (i) 5 (i) 10 (iv) 7 (v) 8

Which of the following algebraic expressions is a monomial?

() (Ps?2+5Ps2+9r2s383+45383) (i) (622 +7) (i) 3r2s3£2 (iv) (—=63s3t2+8rs—271)

(v) (83s3t—rst2—-8s33-6¢)

Which of the following algebraic expressions is a binomial?

(i) (3RRA3=2fgh3—9rh3) (i) 5P g*h3 (i) (9P +2Rg°h2 -2 gh%+1)

(iv) (4P g%2h+5Rh-5fg2h%=5) (v) (—2g2h%+gh)



24. Which of the following algebraic expressions is a trinomial?

(i) (8a2c3—3ab?c3B+4ab+7c3) (i) (-2a3c—Tabc+6c2) (i) (=5a3bc3—4a2b%2c?+8abc?+9b3)
(iv) (=9a3b2c+3a2b23) (v) adb?c
25. Which of the following algebraic expressions is a constant polynomial?
(i) (=9) (i) (=2fg>m3+3fg%>=2h) (iii) 8fg>H> (iv) (8P gh?+FRgh3+T7rfg?h-3Fg)
v) (5Rg3h+3rfgh3)
26. Which of the following algebraic expressions is a zero polynomial?
() (—4g?hm32-2gniP) (i) (—8g3hP-2g°m2P=2g2h%+4h%/%) (iii) (-2g3hi%) (iv) O

) (—2g3m3+3g2h%i-79%hi3)



Assignment Key

1) (v) 2) (ii) 3) (v) 4) (iv) 5) (v) 6) (iv)

7) (i) 8) (iv) 9) (v) 10) (v) 11) (iv) 12) (ii)
13) (iii) 14) (i) 15) (ii) 16) (iv) 17) (i) 18) (iii)
19) (ii) 20) (ii) 21) (iv) 22) (iii) 23) (v) 24) (ii)
25) (i) 26) (iv)
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